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1.

(a) For Andrew’s records, using the “First-In, First-Out” method,

Item: “MUD”

Date
Purchases
Sales
Balance

1997
Quantity
Value
Quantity
Value
Quantity
Value

July
1000 @ 10
10000
500 @ 10
5000
  500 @ 10
5000

August
  500 @ 12
6000
500 @ 10

250 @ 12
8000
  250 @ 12
3000

September
1000 @ 10
10000
-
-
  250 @ 12

1000 @ 10
13000

October
-
-
250 @ 12

350 @ 10
6500
  650 @ 10
6500

November
  500 @ 12
6000
650 @ 10
6500
  500 @ 12
6000

December
  500 @ 13
6500
500 @ 12

100 @ 13
7300
  400 @ 13
5200

Sales
(3100 @ $15)



$46500

Less:
Cost of goods sold

Purchases

$38500


Stocks at 31 Dec 97
($5200)






$33300


Gross Profit



$13200
(b)
For Brian’s records, using the “Last-In, First-Out” method,

Item: “MUD”

Date
Purchases
Sales
Balance

1997
Quantity
Value
Quantity
Value
Quantity
Value

July
1000 @ 10
10000
500 @ 10
5000
  500 @ 10
5000

August
  500 @ 12
6000
500 @ 12

250 @ 10
8500
  250 @ 10
2500

September
1000 @ 10
10000
-
-
1250 @ 10
12500

October
-
-
600 @ 10
6000
  650 @ 10
6500

November
  500 @ 12
6000
500 @ 12

150 @ 10
7500
  500 @ 10
5000

December
  500 @ 13
6500
500 @ 13

100 @ 10
7500
  400 @ 10
4000

Sales
(3100 @ $15)



$46500

Less:
Cost of goods sold

Purchases

$38500


Stocks at 31 Dec 97
($4000)






$34500


Gross Profit



$12000

(c)
For Charles’ records, using the  “Weighted-Average” method,

Item: “MUD”

Date
Purchases
Sales
Balance

1997
Quantity
Value
Quantity
Value
Quantity
Value

July
1000 @ 10
10000
500 @ 10
5000
  500 @ 10
5000

August
  500 @ 12
6000
750 @ 11
8250
  250 @ 11
2750

September
1000 @ 10
10000
-
-
1250 @ 10.2
12750

October
-
-
600 @ 10.2
6120
  650 @ 10.2
6630

November
  500 @ 12
6000
650 @ 10.98
7138.70
  500 @ 10.98
5491.30

December
  500 @ 13
6500
600 @ 11.99
7194.78
  400 @ 11.99
4796.52

Sales
(3100 @ $15)



$46500

Less:
Cost of goods sold

Purchases

$38500


Stocks at 31 Dec 97
($4796.52)






$33703.48


Gross Profit



$12796.52

2. Since Andrew, Brian and Charles are equal partners in the joint venture, the profit will be distributed equally to each of the three partners.

(a) Profit for each partner arising from the “First-In, First Out” method

=
$13200 ( 3

=
$4400

(b) Profit for each partner arising from the “Last-In, First-Out”method

=
$12000 ( 3

=
$4000

(c) Profit for each partner arising from the “Weighted-Average”method

=
$12796.52 ( 3

=
$4265.51

There are several reasons to account for the difference between the balance in the bank and the calculated profit.

If the balance in the bank is higher than the calculated profit, it is probably because the opening stock has not been taken into account. This opening stock balance is supposed to be brought forward from the previous work period (the period before July 97). By taking this into account, all the calculations, regardless of the accounting method used, will be very different and produce a different calculated profit.

If the balance in the bank is lower than the calculated profit, it is probable that other expenses like the tax, rent and utilities have not been taken into account. These expenses will cause a reduction in the bank balance but it is not reflected in the accounting. Also, the closing stock has been included in the calculation of the profit, but it is not shown on the bank balance. This will cause the bank balance to seem less than the calculated profit.

3.
The profits calculated from the three different methods give different results although the same quantities of goods have been sold. This is due to the changing purchase cost of “MUD”. In the work period from July to December, the unit purchase cost of “MUD” has increased from $10 to $13. This means that the later cost is higher than the earlier cost. Thus, the “Last-in, First-Out” method of accounting will result in the sale of the higher-costing goods and in turn reap the lowest profit, while the “First-In, First-Out” method will result in the sale of the lower-costing goods and in turn reap the highest profit. Accounting using the “Weighted Average” method, on the other hand, will result in a calculated profit in a range between the above two, since it takes the average of the unit costs of the goods present at the moment of time. All three methods disregard the value lost due to depreciation over time. The 'Weighted Average' method is thus the most acceptable method since it involves taking the average of the ever-changing costs.

4. Under all the three different methods used, the value of the closing stocks will be the same.

Value of closing stock

=
400 ( $9 = $3600
Since the introduction of “SOIL” has resulted in a fall in the selling price of “MUD” to $9, the method of accounting does not affect the real value of the closing stocks as the goods will be sold at a constant price of $9 each regardless of the method used.
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